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BRAINWARE UNIVERSITY

Term End Examination 2023-2024
Programme - B.Sc.(Ag)-Hons-2022/B.5c.(Ag)-Hons-2023
Course Name - Fundamentals of Crop Physiology
Course Code - CC-BAG277(T)

( Semester Il)

Full Marks : 50 Time : 2:0 Hours
[The figure in the margin indicates full marks. Candidates are required to give their answers in their own
words as far as practicable.]

Group-A
(Multiple Choice Type Question) 1x20=20
1. Choose the correct alternative from the following :

(i) Which among the options are best appropriate for the following definition- 'Movement of
solute particle continued from a higher concentration to its lower concentration area till
the equilibrium is achieved'.

a) Plasmolysis b) Transpiration
c) Osmosis d) Diffusion
(ii) Which hormone induces flowering in plant ?
a) Floret b) Florin
c) Florigen d) Ethylene
(iii) In which type of plant, critical photoperiod should always be extended ?
a) Short day plant b) Long day plant
c) Short long day plant d) Long short day plant

(iv) Identify the acid, which is synthesized at night reduces the cell pH and helps the stomata
to become close.

a) Pyruvic acid b) Carbonic acid
c) Acetic acid d) None of these
(v) InTCA cycle, how many number of ATP is synthesized from single molecule of Glucose ?
a)4 b) 8
c) 18 d) 24
(vi) Where the highest rate of transpiration is taken place?
a) Ston.\atai transpiration b) Cuticular transpiration
c) Lenticular transpiration d) Hydathode transpiration

(vii) Formulae of Graham’s law on diffusion is identified as -
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a) (d a1/vD) b) (D a1/vd)

¢)(Dad) d) (0 a1/d) "
(viii) Name the nutritional deficiency for which chlorosis in leaves occurre

a) Ca b) K

c) Na d) Mg
(ix) Nucleolus is the hub for the synthesis of which part?

a) RNA b) DNA

c) Both RNA & DNA d) Protein

() Which of the following growth curve represents arithmetic growth under growth
measurement ?

a) Linear b) Sigmoid
¢) Parabolic d) Hyperbolic
(xi) Name of family of proteins that form channels to facilitate the transport of water across
cell membranes ?
a) Porin b) Symporin
¢) Aquaporin d) Carrier protein .
(xii) Select the cell organelle which is responsible for shipment in transport vesicle and also
known as shorting and processing center of cell.

a) Mitochondria b) Golgi body
c) Endoplasmic Reticulum d) Nucleus o
(xiii) Sub epidermal evaporation of water exhibit in plant during which time?
a) Photosynthesis b) Guttation
¢) Respiration d) Transpiration ' -
(xiv) Choose the correct option, Absorption of water and minerals take place in root position.
a) Root cap tip b) Root hairs
c) Root epidermis d) Root endodermis
(xv) Hill reaction take place in Granna formed of which molecule?
a) ATP and NADPH2 b) NADPH2
c) ADP d) All of these
{xvi) Where does the Dark reaction of photosynthesis occur?
a) Stomata b) Stroma and matrix
c) Stroma d) Grana
(xvii) How many net ATP molecules formed in glycolysis?
a) 38 b) 12
c)2 d)1
(xviii) Name the natural occurring hormone in higher plant .
a) IAA b) IBA
c) NAA d) IBA and NAA
(xix) What is the End Product of the Calvin Cycle?
a) PGA b) ADP+NADP
c) RuBP d) PGAL

(xx) Choose the correct option, Major part of dry weight of a plant is derived from elements
obtained from where?

a) Soil b) Air
c) Water d) Decomposing organic matter
Group-B
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12.

(Short Answer Type Questions)

Construct a list for criteria for essentiality of elements.

Classify the plant nutrients based on their biochemical role and physiological function.

What is Osmotic Pressure? Give example,

What are the deficiency symptoms of N

Recall the importance of crop physiology in agriculture.
Mark diferent examples of growth retardants,
summarize the functions of cell nucleus

Outline the phases of growth for plants,

_Interpret about active transport mechanism of plants.
_Categorize the two types of respiration.

OR
Factors affecting take part in Respiration in Plants

Group-C
(Long Answer Type Questions)

Discuss about glycolysis (With figure)
OR
Elaborate the Physiological role of cytokinin.
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